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Les	
  réponses	
  à	
  une	
  ouverture	
  de	
  1	
  &	
  2SA	
  	
  
Ou	
  2T,	
  2K	
  puis	
  2SA	
  ou	
  3SA	
  

	
  
1. RAPPEL	
  SUR	
  LES	
  OUVERTURES	
  A	
  SANS	
  ATOUT	
  :	
  

1	
  .1	
  Ouverture	
  de	
  1SA	
  
Les	
  mains	
  doivent	
  être	
  régulières,	
  pas	
  de	
  majeures	
  5ème,	
  le	
  nombre	
  de	
  points	
  compris	
  

entre	
  15HL	
  et	
  17HL	
  et	
  en	
  prenant	
  soin	
  d’anticiper	
  	
  les	
  enchères	
  :	
  
-­‐ Mains	
  6322	
  (mineure	
  6ème)	
  de	
  14H	
  =	
  15	
  à	
  16HL	
  donc	
  on	
  ouvre	
  de	
  1SA.	
  
-­‐ Mains	
  5422	
  (5	
  en	
  mineures	
  et	
  4	
  en	
  Majeures)	
  de	
  15	
  17H,	
  avec	
  des	
  points	
  dans	
  

les	
  doubletons,	
  on	
  ouvre	
  de	
  1SA.	
  
-­‐ Mains	
  4441	
  avec	
  un	
  Roi	
  sec	
  	
  de	
  15	
  17H,	
  n’hésitez	
  pas,	
  ouvrez	
  de	
  1SA.	
  

Le	
  capitaine	
  de	
  la	
  séquence	
  est	
  le	
  répondant	
  

1	
  .2	
  Ouverture	
  de	
  2SA	
  
Compte	
  tenu	
  du	
  niveau	
  de	
  	
  l’ouverture	
  on	
  sera	
  plus	
  conservateurs,	
  donc	
  mains	
  

régulières	
  (pas	
  9	
  cartes	
  dans	
  deux	
  couleurs),	
  pas	
  de	
  main	
  4441	
  avec	
  un	
  Roi	
  sec	
  et	
  des	
  
doubletons	
  gardés	
  :	
  la	
  zone	
  est	
  fixée	
  strictement	
  à	
  20-­‐21HL.	
  

Le	
  capitaine	
  de	
  la	
  séquence	
  est	
  le	
  répondant	
  

	
  
1	
  .3	
  Ouverture	
  de	
  2T	
  ou	
  2K	
  
Si	
  la	
  redemande	
  de	
  l’ouvreur	
  se	
  fait	
  à	
  SA,	
  alors	
  	
  	
  on	
  conservera	
  les	
  mêmes	
  critères	
  

que	
  pour	
  une	
  ouverture	
  de	
  2SA,	
  avec	
  les	
  zones	
  suivantes	
  :	
  
-­‐ 2T,	
  2K,	
  2SA	
  :	
  main	
  de	
  22-­‐23HL	
  
-­‐ 2K,	
  2X,	
  2SA	
  :	
  main	
  de	
  24HL	
  et	
  plus	
  (enchère	
  illimitée)	
  
-­‐ 2K,	
  3X,	
  3SA	
  :	
  main	
  de	
  24HL	
  et	
  plus	
  (enchère	
  illimitée)	
  
-­‐ 2K,	
  2X	
  ou	
  3Y,	
  4SA	
  :	
  arrêt	
  absolu,	
  il	
  manque	
  deux	
  As	
  

Le	
  capitaine	
  de	
  la	
  séquence	
  est	
  le	
  répondant	
  sur	
  une	
  ouverture	
  de	
  2T	
  uniquement	
  
	
  

2. REPONSES	
  A	
  L’OUVERTURE	
  DE	
  1SA	
  

Les	
  différentes	
  réponses	
  auront	
  pour	
  but	
  	
  de	
  récupérer	
  les	
  contrats	
  suivants	
  par	
  
ordre	
  de	
  priorité	
  :	
  
-­‐ Une	
  partielle	
  en	
  Majeure	
  pour	
  des	
  mains	
  de	
  moins	
  de	
  7H	
  possédant	
  une	
  

Majeure	
  5ème	
  (nous	
  avons	
  forcément	
  un	
  fit	
  de	
  7	
  cartes).	
  
-­‐ Une	
  partielle	
  à	
  SA	
  (1SA,	
  main	
  de	
  moins	
  de	
  7H	
  ou	
  2SA	
  pour	
  des	
  mains	
  de	
  7-­‐8H)	
  	
  
-­‐ Une	
  partielle	
  en	
  mineure	
  (mains	
  de	
  moins	
  de	
  7H	
  comportant	
  une	
  mineure	
  au	
  

moins	
  6ème	
  et	
  un	
  singleton).	
  
-­‐ Une	
  manche	
  en	
  Majeure	
  	
  (Texas	
  et	
  Stayman)	
  
-­‐ Une	
  manche	
  à	
  Sans	
  Atout.	
  
-­‐ Une	
  manche	
  en	
  mineure	
  si	
  l’ouvreur	
  n’a	
  pas	
  de	
  beaux	
  arrêts	
  dans	
  le	
  singleton	
  

du	
  répondant.	
  
-­‐ Un	
  chelem	
  en	
  Majeure,	
  SA	
  ou	
  mineure.	
  

2	
  .1	
  Les	
  principes	
  
	
  
	
  	
   2.11	
  On	
  a	
  entre	
  0	
  et	
  7H	
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Sans	
  Majeures	
  	
  5ème	
  ou	
  mineure	
  6ème	
  avec	
  un	
  singleton,	
  on	
  passe.	
  
Avec	
  une	
  Majeure	
  5ème	
  ou	
  plus,	
  on	
  fait	
  un	
  Texas	
  majeur	
  (2K	
  pour	
  les	
  cœurs	
  et	
  2C	
  

pour	
  les	
  piques).	
  
Avec	
  une	
  mineure	
  6ème	
  et	
  un	
  singleton,	
  on	
  fait	
  un	
  Texas	
  mineur	
  (2P	
  pour	
  les	
  

Trèfles	
  et	
  3T	
  pour	
  les	
  Carreaux)	
  
	
  
	
  	
   2.12	
  On	
  a	
  8H	
  et	
  plus	
  
On	
  est	
  en	
  zone	
  de	
  manche	
  et	
  plus	
  :	
  on	
  peut	
  faire	
  un	
  Texas	
  ou	
  un	
  Stayman	
  avec	
  les	
  

développements	
  adaptés	
  pour	
  jouer	
  la	
  meilleure	
  manche.	
  Toutes	
  les	
  enchères	
  à	
  Sans	
  
atout	
  sont	
  quantitatives	
  indiquant	
  le	
  niveau	
  possible	
  du	
  contrat	
  jouable	
  pour	
  la	
  
paire.	
  

	
   Si	
  on	
  a	
  une	
  main	
  régulière	
  sans	
  majeure	
  4ème	
  ,	
  alors	
  on	
  fait	
  une	
  enchère	
  à	
  
Sans	
  Atout	
  au	
  palier	
  adéquat	
  :	
  
-­‐ 2SA	
  :	
  8-­‐9HL	
  
-­‐ 3SA	
  :	
  10-­‐15HL	
  
-­‐ 4SA	
  :	
  15-­‐17HL	
  ,	
  enchère	
  quantitative	
  demandant	
  à	
  l’ouvreur	
  de	
  mettre	
  6SA	
  s’il	
  

est	
  maximum	
  de	
  son	
  ouverture.	
  
-­‐ 5SA	
  :	
  18-­‐	
  20HL,	
  le	
  partenaire	
  répond	
  sa	
  meilleure	
  mineure	
  de	
  4	
  cartes	
  	
  
-­‐ 7SA	
  :	
  21HL	
  et	
  plus	
  

	
  
	
  	
   2.13	
  Le	
  Stayman	
  
Il	
  consiste	
  à	
  dire	
  2T,	
  indiquant	
  au	
  partenaire	
  “	
  j’ai	
  au	
  moins	
  8H	
  et	
  une	
  Majeure	
  

4ème	
  ”	
  .Si	
  on	
  possède	
  une	
  Majeure	
  4ème	
  et	
  l’autre	
  5ème	
  on	
  fait	
  un	
  Stayman.	
  Voici	
  
quelques	
  exemples	
  pour	
  illustrer	
  cette	
  enchère	
  :	
  

	
  
Donne	
  1	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
1097	
   	
   	
   1SA	
   	
   passe	
   	
   2T	
  
AV108	
   	
   Pour	
  indiquer	
  4	
  Cœurs	
  et	
  une	
  main	
  de	
  8H	
  et	
  plus.	
  
10852	
   	
   Espoir	
  de	
  manche	
   	
  
A2	
   	
   	
  
	
  
Donne	
  2	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
R762	
   	
   	
   1SA	
   	
   passe	
   	
   2T	
  
DV96	
   	
   	
   	
  
8654	
   	
   	
   Vous	
  avez	
  les	
  deux	
  Majeures	
  	
  4ème	
  et	
  plus	
  de	
  8H.	
  
A	
  	
  	
  	
  	
   	
   	
   Certitude	
  de	
  manche	
  
	
  
Donne	
  3	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
V876	
   	
   	
   1SA	
   	
   passe	
   	
   2T	
   	
   	
  
V9542	
   	
   	
   	
  
A	
   	
   	
   Vous	
  avez	
  au	
  moins	
  une	
  Majeure	
  4ème	
  et	
  plus	
  de	
  8H,	
  alors	
  
R32	
   	
   	
   il	
  faut	
  faire	
  un	
  Stayman,	
  avec	
  un	
  espoir	
  de	
  manche.	
  

	
  
Attention	
  :	
  si	
  vous	
  avez	
  une	
  Majeure	
  6ème	
  associée	
  à	
  une	
  Majeure	
  4ème	
  alors	
  il	
  faut	
  
faire	
  un	
  Texas.	
  
	
  
	
  	
   2.14	
  	
  Le	
  Texas	
  
Il	
  consiste	
  à	
  annoncer	
  la	
  couleur	
  immédiatement	
  en	
  dessous	
  de	
  celle	
  que	
  l’on	
  

possède	
  donc	
  :	
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-­‐ 2K	
  :	
  Texas	
  pour	
  les	
  cœurs(	
  j’ai	
  au	
  moins	
  5	
  cartes	
  à	
  cœur)	
  
-­‐ 2C	
  :	
  Texas	
  pour	
  les	
  piques(j’ai	
  au	
  moins	
  5	
  cartes	
  à	
  pique)	
  
-­‐ 2P	
  :	
  Texas	
  pour	
  les	
  trèfles(j’ai	
  au	
  moins	
  5	
  trèfles)	
  
-­‐ 3T	
  :	
  Texas	
  pour	
  les	
  carreaux(j’ai	
  au	
  moins	
  5	
  carreaux)	
  

Attention	
  :	
  pour	
  les	
  mineures	
  on	
  ne	
  fait	
  un	
  Texas	
  que	
  si	
  on	
  possède	
  au	
  moins	
  6	
  
cartes	
  avec	
  un	
  singleton,	
  dans	
  la	
  zone	
  0-­‐7HL,	
  sinon	
  5	
  cartes	
  possibles,	
  dans	
  un	
  jeu	
  
de	
  manche(comportant	
  un	
  singleton)	
  ou	
  de	
  chelem,	
  quelque	
  soit	
  la	
  répartition.	
  
	
  
	
  
2	
  .2	
  Les	
  développements	
  sur	
  le	
  Stayman	
  
	
  
2.21	
  La	
  réponse	
  de	
  l’ouvreur	
  
L’ouvreur	
  a	
  quatre	
  réponses	
  possibles	
  :	
  
-­‐ 2K	
  :	
  je	
  n’ai	
  pas	
  de	
  Majeure	
  4ème	
  	
  
-­‐ 2C	
  :	
  j’ai	
  4	
  cœurs	
  
-­‐ 2P	
  :	
  j’ai	
  4	
  piques	
  
-­‐ 2SA	
  :	
  j’ai	
  les	
  deux	
  Majeures	
  4ème	
  	
  

2.22	
  La	
  deuxième	
  enchère	
  du	
  répondant	
  
La	
  suite	
  des	
  enchères,	
  sur	
  la	
  réponse	
  de	
  2K,	
  est	
  codifiée	
  comme	
  suit	
  :	
  
-­‐ 2C	
  :	
  j’ai	
  5	
  cœurs,	
  	
  dans	
  une	
  main	
  de	
  8-­‐9H	
  
-­‐ 2P	
  :	
  j’ai	
  5	
  piques	
  dans	
  une	
  main	
  de	
  8-­‐9H	
  
-­‐ 2SA	
  :	
  j’ai	
  8-­‐9H	
  ,	
  qu’en	
  penses	
  tu	
  ?	
  
-­‐ 3SA	
  :	
  pour	
  les	
  jouer	
  
-­‐ 3C	
  :	
  j’ai	
  4	
  cœurs	
  et	
  5	
  piques	
  dans	
  un	
  jeu	
  de	
  manche.	
  
-­‐ 3P	
  :	
  j’ai	
  4	
  piques	
  et	
  5	
  cœurs	
  dans	
  un	
  jeu	
  de	
  manche.	
  

La	
  suite	
  des	
  enchères,	
  sur	
  la	
  réponse	
  de	
  2C,	
  est	
  codifiée	
  comme	
  suit	
  :	
  
-­‐ 2SA	
  :	
  j’ai	
  8-­‐9H	
  ,	
  pas	
  4	
  cœurs,	
  	
  qu’en	
  penses	
  tu	
  ?	
  
-­‐ 3T/3K	
  :	
  main	
  5	
  mineures(voir	
  6),	
  4	
  piques	
  et	
  un	
  singleton	
  
-­‐ 3SA	
  :	
  pour	
  les	
  jouer	
  
-­‐ 3C	
  :	
  j’ai	
  4	
  cœurs	
  et	
  une	
  main	
  de	
  8-­‐9H.	
  
-­‐ 4C	
  :	
  pour	
  les	
  jouer.	
  
-­‐ 3P	
  :	
  enchère	
  impossible,	
  indiquant	
  une	
  main	
  comportant	
  4	
  cœurs,	
  avec	
  un	
  

espoir	
  ou	
  une	
  certitude	
  de	
  chelem.	
  

La	
  suite	
  des	
  enchères,	
  sur	
  la	
  réponse	
  de	
  2P,	
  est	
  codifiée	
  comme	
  suit	
  :	
  
-­‐ 2SA	
  :	
  j’ai	
  8-­‐9H,	
  pas	
  4	
  piques,	
  qu’en	
  penses	
  tu	
  ?	
  
-­‐ 3T/3K	
  :	
  main	
  5	
  mineures(voir	
  6),	
  4	
  cœurs	
  	
  et	
  un	
  singleton	
  
-­‐ 3SA	
  :	
  pour	
  les	
  jouer	
  
-­‐ 3P	
  :	
  j’ai	
  4	
  piques	
  et	
  une	
  main	
  de	
  8-­‐9H.	
  
-­‐ 4P	
  :	
  pour	
  les	
  jouer.	
  
-­‐ 4C	
  :	
  enchère	
  impossible,	
  indiquant	
  une	
  main	
  comportant	
  4	
  piques	
  avec	
  un	
  

espoir	
  ou	
  une	
  certitude	
  de	
  chelem.	
  

La	
  suite	
  des	
  enchères,	
  sur	
  la	
  réponse	
  de	
  2SA,	
  est	
  codifiée	
  comme	
  suit	
  :	
  
-­‐ 3T	
  :	
  j’ai	
  	
  4	
  cœurs	
  et	
  8-­‐9H,	
  qu’en	
  penses	
  tu?	
  
-­‐ 3K	
  :	
  j’ai	
  	
  4	
  piques	
  et	
  8-­‐9H,	
  qu’en	
  penses	
  tu?	
  
-­‐ 4T	
  :	
  j’ai	
  4	
  cœurs	
  et	
  une	
  main	
  de	
  manche	
  voir	
  plus.	
  
-­‐ 4K	
  :	
  j’ai	
  4	
  piques	
  et	
  une	
  main	
  de	
  manche	
  voir	
  plus.	
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-­‐ Pour	
  ces	
  enchères,	
  c’est	
  le	
  principe	
  du	
  sous	
  Texas	
  pour	
  faire	
  jouer	
  la	
  main	
  forte.	
  

Remarques	
  :	
  
	
   Si	
  l’ouvreur	
  n’a	
  pas	
  une	
  de	
  vos	
  majeures	
  pour	
  un	
  fit	
  4-­‐4	
  voir	
  5-­‐3,	
  alors	
  les	
  
enchères	
  de	
  4SA	
  ,	
  6SA	
  et	
  7SA	
  restent	
  identiques	
  au	
  chapitre	
  2.12.	
  

	
  
Donne	
  1	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
1097	
   	
   	
   1SA	
   	
   passe	
   	
   2T	
   	
   passe	
  
AV108	
   	
   2C	
   	
   passe	
   	
   3C	
   	
   passe	
  
10852	
   	
   Espoir	
  de	
  manche	
   avec	
  4	
  cartes	
  à	
  cœur.	
  
A2	
   	
   	
  
	
  
Donne	
  2	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
R762	
   	
   	
   1SA	
   	
   passe	
   	
   2T	
   	
   passe	
  
DV96	
   	
   	
   2K	
   	
   passe	
   	
   3SA	
  
8654	
   	
   	
   Votre	
  partenaire	
  n’a	
  pas	
  de	
  Majeures	
  4ème	
  demandez	
  la	
  
A	
  	
  	
  	
  	
   	
   	
   manche	
  à	
  3SA.	
  
	
  
Donne	
  3	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
V876	
   	
   	
   1SA	
   	
   passe	
   	
   2T	
   	
   passe	
   	
  
V9542	
   	
   2K	
   	
   passe	
   	
   2C	
   	
  
A	
   	
   	
   Montrez	
  vos	
  5	
  cœurs,	
  avec	
  un	
  espoir	
  de	
  manche	
  
R32	
   	
   	
   	
  
	
  
Donne	
  4	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
V876	
   	
   	
   1SA	
   	
   passe	
   	
   2T	
   	
   passe	
   	
  
V9542	
   	
   2C	
   	
   passe	
   	
   4C	
   	
  
A	
   	
   	
   Fit	
  9ème,	
  votre	
  main	
  vaut	
  10HL	
  donc	
  imposez	
  la	
  manche.	
  
R32	
   	
   	
   	
  
	
  
Donne	
  5	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
V876	
   	
   	
   1SA	
   	
   passe	
   	
   2T	
   	
   passe	
   	
  
V9542	
   	
   2P	
   	
   passe	
   	
   3P	
   	
  
A	
   	
   	
   Avec	
  un	
  espoir	
  de	
  manche,	
  demandez	
  l’avis	
  du	
  partenaire.	
  
R32	
   	
   	
   	
  

	
  

Donne	
  6	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
V876	
   	
   	
   1SA	
   	
   passe	
   	
   2T	
   	
   passe	
   	
  
V9542	
   	
   2SA	
   	
   passe	
   	
   4T	
   	
  
A	
   	
   	
   Fit	
  9ème,	
  votre	
  main	
  vaut	
  10HL	
  donc	
  imposez	
  la	
  manche.	
  
R32	
   	
   	
   Relais	
  pour	
  4C.	
  

	
  

Donne	
  7	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
AR97	
   	
   	
   1SA	
   	
   passe	
   	
   2T	
   	
   passe	
  
AV108	
   	
   2C	
   	
   passe	
   	
   3P	
   	
   	
  
10852	
   	
   Espoir	
  de	
  chelem	
  avec	
  4	
  cartes	
  à	
  cœur.	
  
A2	
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2	
  .3	
  Les	
  développements	
  sur	
  le	
  Texas	
  
	
  
L’ouvreur	
  rectifie	
  le	
  Texas	
  ce	
  qui	
  permet	
  au	
  répondant	
  de	
  choisir	
  le	
  meilleur	
  
contrat	
  possible	
  :	
  
-­‐ 0-­‐7H	
  :	
  passe	
  
-­‐ 8-­‐9HL	
  :	
  on	
  propose	
  la	
  manche	
  
-­‐ 10HL	
  -­‐15HL	
  :	
  on	
  impose	
  la	
  manche(déclaration	
  ou	
  enchère	
  forcing)	
  
-­‐ 16HL	
  et	
  plus	
  on	
  recherche	
  le	
  meilleur	
  chelem	
  possible.	
  

Remarques	
  :	
  
Si	
  le	
  répondant	
  n’a	
  que	
  5	
  cartes	
  en	
  Majeures,	
  il	
  annonce	
  conventionnellement	
  

2SA	
  (8-­‐9HL)	
  ou	
  3SA	
  (10-­‐15HL),	
  l’ouvreur	
  pouvant	
  rectifier	
  s’il	
  possède	
  3	
  cartes	
  dans	
  la	
  
couleur.	
  

Si	
  le	
  répondant	
  a	
  5	
  cartes	
  en	
  Majeures	
  et	
  	
  au	
  moins	
  4	
  cartes	
  en	
  mineures	
  avec	
  
un	
  singleton,	
  il	
  enchérit	
  naturellement	
  en	
  vue	
  de	
  récupérer	
  le	
  meilleur	
  contrat	
  possible.	
  

Les	
  enchères	
  de	
  4SA	
  ,	
  5SA	
  et	
  7SA	
  restent	
  identiques	
  au	
  chapitre	
  2.12.	
  

2	
  .4	
  Les	
  enchères	
  de	
  bicolore	
  
	
  
Le	
  répondant	
  a	
  deux	
  enchères	
  à	
  sa	
  disposition	
  pour	
  décrire	
  les	
  deux	
  bicolores	
  
suivants	
  :	
  
-­‐ Bicolore	
  mineure	
  (au	
  moins	
  5-­‐5)	
  :	
  4T	
  
-­‐ Bicolore	
  Majeure	
  (5-­‐5	
  exactement)	
  :	
  4K	
  	
  

Il	
  est	
  bien	
  évident	
  que	
  si	
  vous	
  reparlez	
  sur	
  la	
  rectification	
  de	
  votre	
  partenaire,	
  c’est	
  
une	
  exploration	
  d’un	
  chelem	
  dans	
  la	
  couleur	
  annoncée	
  par	
  le	
  déclarant.	
  

Remarques	
  :	
  
Si	
  vous	
  avez	
  un	
  bicolore	
  Majeure	
  6-­‐5	
  de	
  manche,	
  faites	
  d’abord	
  un	
  Texas	
  à	
  cœur	
  si	
  

vous	
  avez	
  6	
  piques	
  avant	
  de	
  rectifier	
  à	
  4P	
  ensuite	
  (vous	
  	
  avez	
  forcément	
  6	
  cartes	
  à	
  pique	
  
sur	
  ce	
  type	
  de	
  séquence	
  car	
  vous	
  imposez	
  le	
  fit	
  à	
  un	
  partenaire	
  qui	
  peut	
  n’en	
  détenir	
  que	
  
2).	
  Si	
  vous	
  avez	
  6	
  cœurs	
  	
  et	
  5	
  piques,	
  faites	
  un	
  Texas	
  à	
  Pique	
  puis	
  mettez	
  4C.	
  

Après	
  un	
  Texas	
  mineure,	
  l’annonce	
  d’une	
  majeure	
  indique	
  un	
  singleton	
  dans	
  
l’autre	
  majeure,	
  tandis	
  qu’une	
  enchère	
  de	
  3SA	
  indique	
  un	
  singleton	
  dans	
  l’autre	
  
mineure.	
  

	
  
3. REPONSES	
  A	
  L’OUVERTURE	
  DE	
  2SA	
  
	
  
3	
  .1	
  Les	
  principes	
  de	
  l’ouverture	
  

La	
  force	
  est	
  très	
  précise	
  20	
  21H,	
  avec	
  une	
  main	
  régulière.	
  Toutefois,	
  on	
  peut	
  
ouvrir	
  avec	
  une	
  Majeure	
  5ème	
  qui	
  ne	
  pourrait	
  pas	
  être	
  ouverte	
  au	
  niveau	
  de	
  l’enchère	
  de	
  
2T,	
  ainsi	
  qu’avec	
  une	
  mineure	
  6ème	
  si	
  toutes	
  les	
  autres	
  couleurs	
  sont	
  gardées.	
  
	
  
Donne	
  1	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
D10972	
   	
   2SA	
   	
   	
  
AR8	
   	
   	
  
AD2	
   	
   	
   21H,	
  5	
  Piques	
  et	
  toutes	
  les	
  couleurs	
  gardées	
  donc	
  2SA	
  
AD	
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Donne	
  2	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
AD1075	
   	
   2SA	
  
RV7	
   	
   	
   	
  
AD	
   	
   	
   21H,	
  5	
  Piques	
  et	
  toutes	
  les	
  couleurs	
  gardées	
  donc	
  2SA	
  
RV8	
  	
  	
  	
  	
  	
   	
   	
  
	
  
Donne	
  3	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
AV	
   	
   	
   2SA	
   	
  
DV9	
   	
   	
   	
  
RV9765	
   	
   21HL,	
  6	
  carreaux,	
  toutes	
  les	
  couleurs	
  gardées	
  donc	
  2SA	
  
AR	
   	
   	
   	
  
	
  
Donne	
  4	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
82	
   	
   	
   1C	
   	
  
ARV84	
   	
   	
   	
  
AR4	
   	
   	
   21HL	
  avec	
  une	
  Majeure	
  	
  5ème	
  et	
  un	
  doubleton	
  non	
  gardé,	
  on	
  	
  
AV8	
   	
   	
   ouvre	
  de	
  1	
  à	
  la	
  couleur.	
  La	
  redemande	
  sera	
  plus	
  compliquée	
  :	
  
	
   	
   Si	
  1P	
  :	
  alors	
  3SA	
   Si	
  1SA	
  :	
  mettre	
  3SA	
  
	
   	
   Si	
  2C	
  :	
  mettre	
  4C	
   Si	
  2T	
  :	
  mettre	
  2K	
  et	
  Si	
  2K	
  mettre	
  3T	
  
	
   	
   Si	
  2SA	
  :	
  posez	
  le	
  blackwood,	
  ainsi	
  que	
  sur	
  3C.	
  
	
   	
   	
   	
  

3	
  .2	
  Les	
  principes	
  de	
  réponse	
  	
  

3.21	
  La	
  problématique	
  des	
  réponses	
  
Les	
  réponses	
  impliquent	
  que	
  nous	
  allons	
  jouer	
  au	
  moins	
  la	
  manche,	
  donc	
  on	
  ne	
  fera	
  

des	
  Texas	
  Majeures	
  que	
  si	
  on	
  accepte	
  la	
  manche	
  et	
  des	
  Texas	
  mineures	
  si	
  on	
  accepte	
  de	
  
jouer	
  au	
  moins	
  4SA	
  (27-­‐28	
  H	
  entre	
  les	
  deux	
  mains).	
  Pour	
  des	
  mains	
  de	
  9-­‐10H	
  	
  avec	
  
une	
  belle	
  Majeure	
  5ème,	
  dites	
  4M	
  =	
  espoir	
  de	
  chelem.	
  
	
  

3.22	
  La	
  réponse	
  au	
  Stayman	
  
	
  
Le	
  Stayman	
  est	
  forcing	
  de	
  manche,	
  il	
  se	
  fait	
  à	
  partir	
  d’une	
  main	
  de	
  4H,	
  l’ouvreur	
  répond	
  :	
  

-­‐ 3K	
  :	
  pas	
  4	
  cartes	
  dans	
  une	
  	
  Majeure,	
  
-­‐ 3C	
  :	
  4	
  cartes	
  à	
  cœur,	
  
-­‐ 3P	
  :	
  4	
  cartes	
  à	
  piques,	
  
-­‐ 3SA	
  :	
  4	
  cartes	
  à	
  cœur	
  et	
  à	
  pique.	
  

3.23	
  Les	
  développements	
  après	
  la	
  réponse	
  de	
  l’ouvreur	
  
	
  
Sur	
  la	
  réponse	
  de	
  3K	
  :	
  
-­‐ 3C	
  indique	
  4	
  cœurs	
  et	
  5	
  Piques,	
  
-­‐ 3P	
  indique	
  5	
  cœurs	
  et	
  4	
  Piques,	
  
-­‐ l’annonce	
  d’une	
  mineure	
  au	
  palier	
  de	
  4	
  implique	
  un	
  espoir	
  ou	
  certitude	
  de	
  

chelem	
  (9H	
  minimum)	
  avec	
  au	
  moins	
  5	
  cartes	
  dans	
  la	
  mineure,	
  
-­‐ L’enchère	
  de	
  4	
  en	
  Majeure	
  indique	
  (4C	
  =	
  6	
  cœurs,	
  et	
  4	
  Piques,	
  4P	
  =	
  6	
  piques	
  et	
  

4	
  cœurs),	
  
-­‐ 4SA	
  :	
  espoir	
  de	
  chelem,	
  avec	
  environ	
  12H,	
  
-­‐ 5SA	
  :	
  certitude	
  de	
  chelem	
  avec	
  environ	
  13-­‐15H,	
  réponse	
  par	
  la	
  meilleure	
  

mineure	
  de	
  4	
  cartes	
  ou	
  plus	
  en	
  vue	
  de	
  rechercher	
  un	
  chelem	
  en	
  mineure	
  ou	
  
6SA.	
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Sur	
  la	
  réponse	
  de	
  3C	
  :	
  
-­‐ 3P	
  indique	
  4	
  cœurs	
  et	
  un	
  espoir	
  de	
  chelem,	
  
-­‐ 3SA	
  :	
  pour	
  les	
  jouer,	
  
-­‐ 4C	
  :	
  pour	
  les	
  jouer,	
  
-­‐ 4T	
  et	
  4K	
  :	
  naturelles	
  pas	
  de	
  fit	
  avec	
  espoir	
  de	
  chelem.	
  

Sur	
  la	
  réponse	
  de	
  3P	
  :	
  
-­‐ 4C	
  :	
  indique	
  4	
  piques	
  et	
  un	
  espoir	
  de	
  chelem,	
  
-­‐ 3SA	
  :	
  pour	
  les	
  jouer,	
  
-­‐ 4P	
  :	
  pour	
  les	
  jouer,	
  
-­‐ 4T	
  et	
  4K	
  :	
  naturelles	
  pas	
  de	
  fit	
  avec	
  espoir	
  de	
  chelem.	
  

L’annonce	
  d’une	
  mineure	
  au	
  palier	
  de	
  4	
  implique	
  un	
  espoir	
  ou	
  certitude	
  de	
  chelem,	
  
l’ouvreur	
  n’a	
  que	
  deux	
  types	
  de	
  réponse	
  :	
  	
  
-­‐ 4SA	
  :	
  négatif,	
  ne	
  souhaite	
  pas	
  aller	
  au	
  chelem,	
  
-­‐ 4X	
  :	
  réponse	
  au	
  Blackwood	
  par	
  paliers	
  (30-­‐41).	
  

Sur	
  la	
  réponse	
  de	
  3SA	
  :	
  
-­‐ 4T	
  :	
  transfert	
  pour	
  les	
  cœurs,	
  
-­‐ 4K	
  :	
  transfert	
  pour	
  les	
  piques.	
  

	
  
3.24 La	
  réponse	
  au	
  Texas	
  

Le	
  principe	
  est	
  le	
  suivant,	
  3K	
  =	
  Texas	
  cœur,	
  3C	
  =	
  Texas	
  pique	
  
L’ouvreur	
  rectifie	
  le	
  Texas	
  que	
  s’il	
  possède	
  au	
  moins	
  trois	
  cartes	
  dans	
  la	
  couleur	
  du	
  

partenaire,	
  sinon	
  il	
  met	
  3SA.	
  
Les	
  Texas	
  mineures	
  impliquent	
  de	
  jouer	
  au	
  moins	
  4SA,	
  donc	
  3P	
  =	
  Texas	
  trèfle	
  et	
  3T	
  

=	
  Texas	
  carreau.	
  
L’ouvreur	
  rectifie	
  le	
  Texas	
  que	
  s’il	
  possède	
  au	
  moins	
  un	
  gros	
  Honneur	
  second	
  	
  ou	
  

un	
  Honneur	
  troisième	
  dans	
  la	
  couleur	
  du	
  partenaire,	
  sinon	
  il	
  met	
  soit	
  3SA,	
  soit	
  4SA.	
  
	
  
3.25 Les	
  développements	
  après	
  un	
  Texas	
  Majeure	
  

Si	
  l’ouvreur	
  met	
  3SA,	
  alors	
  les	
  enchères	
  de	
  4SA	
  et	
  5SA	
  deviennent	
  respectivement	
  :	
  
-­‐ 4SA	
  :	
  quantitatif	
  pour	
  le	
  chelem	
  à	
  6SA,	
  
-­‐ 5SA	
  :	
  certitude	
  de	
  chelem,	
  on	
  répond	
  par	
  sa	
  meilleure	
  mineure	
  d’au	
  moins	
  4	
  

cartes	
  en	
  vue	
  de	
  rechercher	
  un	
  meilleur	
  chelem	
  en	
  mineure.	
  

Si	
  l’ouvreur	
  rectifie	
  le	
  Texas,	
  alors	
  les	
  enchères	
  autres	
  que	
  la	
  conclusion	
  à	
  la	
  manche	
  
sont	
  des	
  espoirs	
  ou	
  certitude	
  de	
  chelem,	
  la	
  couleur	
  étant	
  agrée.	
  En	
  particulier	
  l’enchère	
  
de	
  4SA	
  devient	
  un	
  Blackwood	
  	
  à	
  l’atout	
  cœur.	
  Toutes	
  les	
  autres	
  enchères,	
  en	
  particulier	
  
d’une	
  autre	
  couleur	
  sont	
  positives,	
  contrôles	
  d’honneur	
  associées	
  à	
  une	
  longueur	
  
possible.	
  
	
  

3.26 Les	
  développements	
  après	
  un	
  Texas	
  mineure	
  
Dans	
  le	
  même	
  esprit,	
  sur	
  l’enchère	
  de	
  3P,	
  ou	
  de	
  4T,	
  les	
  enchères	
  respectives	
  de	
  3SA	
  

et	
  4SA	
  sont	
  des	
  enchères	
  négatives	
  de	
  l’ouvreur	
  quand	
  à	
  la	
  possession	
  d’au	
  moins	
  un	
  
gros	
  honneur	
  second	
  voir	
  un	
  petit	
  honneur	
  troisième.	
  La	
  rectification	
  est	
  toujours	
  
positive.	
  

Remarques	
  :	
  4K	
  =	
  bicolore	
  Majeure	
  de	
  chelem	
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1. REPONSES	
  A	
  L’OUVERURE	
  DE	
  2T,	
  2K	
  PUIS	
  2SA	
  OU	
  3SA	
  

Pour	
  les	
  séquences	
  suivantes,	
  je	
  vous	
  conseille	
  de	
  dupliquer	
  les	
  réponses	
  à	
  
l’ouverture	
  de	
  2SA	
  :	
  

-­‐ 2T	
  passe	
  2K	
  passe	
  2SA,	
  
-­‐ 2K	
  passe	
  2C/2P	
  passe	
  2SA.	
  

Pour	
  la	
  séquence	
  suivante,	
  je	
  vous	
  préconise	
  le	
  Staymann	
  et	
  Texas	
  (attention	
  Texas	
  
mineure	
  	
  =	
  Chelem	
  car	
  il	
  va	
  être	
  difficile	
  de	
  s’arrêter	
  	
  avant	
  celui	
  ci).	
  

-­‐ 2K	
  	
   passe	
  	
  2SA/3X	
  	
   passe	
  
-­‐ 3SA	
  passe	
   4P/5T	
  	
   respectivement	
  Texas	
  trèfle,	
  carreau	
  

Dans	
  le	
  même	
  esprit,	
  les	
  enchères	
  de	
  4SA	
  (sur	
  un	
  Texas	
  trèfle)	
  et	
  5SA	
  (sur	
  un	
  
Texas	
  carreau)	
  sont	
  des	
  enchères	
  négatives	
  de	
  l’ouvreur.	
  

	
  
Exemple	
  vécu	
  :	
  
	
  

Main	
  de	
  Nord	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
972	
   	
   	
   2K	
   	
   passe	
   	
   3T*	
   	
   passe	
   	
   	
  
3	
   	
   	
   3SA	
   	
   passe	
   	
   6SA	
  !!!	
   Fin	
  
R2	
   	
   	
   Il	
  y	
  a	
  certainement	
  un	
  grand	
  chelem	
  !	
  
ADV10642	
   	
   	
  
	
  
Main	
  de	
  Sud	
   	
   	
  
ARDV	
  	
   	
   	
   	
  
A2	
   	
   	
   	
   	
  
ADV104	
   	
   	
   	
  
R9	
   	
   	
  
	
  
Main	
  de	
  Nord	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
972	
   	
   	
   2K	
   	
   passe	
   	
   3T*	
   	
   passe	
   	
   	
  
3	
   	
   	
   3SA	
   	
   passe	
   	
   ??	
  
R2	
   	
   	
   	
  
ADV10642	
   	
   	
  
	
  
Main	
  de	
  Sud	
   	
   	
  
ARDV	
  	
   	
   	
   	
   	
  
A2	
   	
   	
   	
   	
   	
  
ADV104	
   	
   	
   	
  
R9	
   	
   	
  
	
  
	
  
	
  
	
  
2. EXEMPLES	
  D’APPLICATION	
  	
  

	
  
5.1	
  Les	
  développements	
  après	
  l’ouverture	
  de	
  1SA	
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Donne	
  1	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
R1097	
   	
   1SA	
   	
   passe	
   	
   2T	
   	
   passe	
  
AV108	
   	
   2C	
   	
   passe	
   	
   ??	
  
RD2	
   	
   	
  
A2	
   	
   	
  
	
  
Donne	
  2	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
R9762	
   	
   1SA	
   	
   passe	
   	
   2T	
   	
   passe	
  
DV96	
   	
   	
   2K	
   	
   passe	
   	
   ??	
  
D54	
   	
   	
   	
  
A	
  	
  	
  	
  	
   	
   	
   	
  
	
  
Donne	
  3	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
9	
   	
   	
   1SA	
   	
   passe	
   	
   2T	
   	
   passe	
   	
  
V954	
   	
   	
   2K	
   	
   passe	
   	
   ??	
   	
  
ARV96	
   	
   	
  
R32	
   	
   	
   	
  
	
  
Donne	
  4	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
V876	
   	
   	
   1SA	
   	
   passe	
   	
   2T	
   	
   passe	
   	
  
V954	
   	
   	
   2C	
   	
   passe	
   	
   ??	
   	
  
AD	
   	
   	
   	
  
R32	
   	
   	
   	
  
	
  
Donne	
  5	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
9	
   	
   	
   1SA	
   	
   passe	
   	
   2P	
   	
   passe	
   	
  
D95	
   	
   	
   3T	
   	
   passe	
   	
   ??	
   	
  
A1093	
   	
   	
   	
  
RD1032	
   	
   	
   	
  
	
  
Donne	
  6	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
V109	
   	
   	
   1SA	
   	
   passe	
   	
   3T	
   	
   passe	
   	
  
V95	
   	
   	
   3K	
   	
   passe	
   	
   ??	
   	
  
ARD972	
   	
   	
  
5	
   	
   	
   	
  
	
  
Donne	
  7	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
A	
   	
   	
   1SA	
   	
   passe	
   	
   3T	
   	
   passe	
  
V108	
   	
   	
   3K	
   	
   passe	
   	
   ??	
   	
   	
  
RDV109542	
   	
   	
  
A	
   	
  
	
   	
  
Donne	
  8	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
A97	
   	
   	
   1SA	
   	
   passe	
   	
   2C	
   	
   passe	
  
AV1083	
   	
   2P	
   	
   passe	
   	
   ??	
   	
   	
  
1085	
   	
   	
   	
  
D2	
   	
   	
  
	
  
5.2	
  Les	
  développements	
  après	
  l’ouverture	
  de	
  2SA	
  



♣♦♥♠ 	
   	
   Bridge-­‐ENS	
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  :	
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Donne	
  1	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
AD10972	
   	
   2SA	
   	
   passe	
   	
   ??	
   	
   	
  
3	
   	
   	
  
1085	
   	
   	
   	
  
R98	
   	
   	
   	
   	
  
	
  
Donne	
  2	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
62	
   	
   	
   2SA	
   	
   passe	
   	
   3C	
   	
   passe	
  
AD10	
   	
   	
   ??	
   	
   	
  
ARV7	
   	
   	
   	
  
AD96	
  	
  	
  	
   	
   	
   	
  
	
  
Donne	
  3	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
R1082	
   	
   2SA	
   	
   passe	
   	
   3C	
   	
   passe	
   	
  
AR75	
   	
   	
   ??	
   	
   	
   	
  
AR3	
   	
   	
   	
  
A9	
   	
   	
   	
  
	
  
Donne	
  4	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
4	
   	
   	
   2SA	
   	
   passe	
   	
   3K	
   	
   passe	
   	
  
RV1063	
   	
   3C	
   	
   passe	
   	
   ??	
   	
  
A6	
   	
   	
   	
  
D10842	
   	
   	
   	
  
	
  
Donne	
  5	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
R62	
   	
   	
   2SA	
   	
   passe	
   	
   ??	
   	
   	
  
1073	
   	
   	
   	
   	
  
AD10754	
   	
   	
  
6	
   	
   	
   	
  
	
  
Donne	
  6	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
8	
   	
   	
   2SA	
   	
   passe	
   	
   ??	
   	
  
D3	
   	
   	
   	
   	
  
D10873	
   	
   	
  
V10862	
   	
   	
   	
  
	
  
Donne	
  7	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
DV1083	
   	
   2SA	
   	
   passe	
   	
   ??	
  
V10862	
   	
   	
   	
   	
  
8	
   	
   	
   	
  
V3	
   	
  
	
   	
  
Donne	
  8	
   	
   Sud	
   	
   Ouest	
   	
   Nord	
   	
   Est	
  
AD1083	
   	
   2SA	
   	
   passe	
   	
   ??	
  
A10985	
   	
   	
   	
   	
  
5	
   	
   	
   	
  
32	
   	
   	
  
	
  


